SRR OB EOBRE = L OB (fF44E4 A 1 HEAE)

TR R ()

ey | SRR 2 E D 0 et PR ki) LoD Bt
R RS " —
(N) (%) HZzd (AN) (N) (%) 240
T 72
1 EFOME i '
1k RO 82 11.45 %ﬁﬁﬁ !
2 FFHOMHS ES ] 1
AN TR L () 1
B 82 *
FH 72 167 23.32 %
(Rt 4 i
KA A0 N3l S TR B A B 4 %ﬁiﬁi&%) !
2 & 2 F OB 85 11.87 | AN T+ (EF) 1
TRE 2GR 6
that@ikt: 1
B 85
FAT 193
Fap 25
1 EERONkES R L () 3 S
3 ik 225 31.42 | AHE T ERE 4 (F4F) 2 225 31.42 £
2 FTOREE LA EEEME 2 b4
24| 225
(3 117
BE 3 1
P P LR 1 %
4k |FRROWE; 123 17.18 P | 123 17.18 5{
B FAT: 1
=4 123
AR AL 89
SR Al 1
X R A 5
fEREAR 1 ﬁ
| I s — Rtk 4
5k |BREMIEOIES 104 14.53 SR i : 104 14.53 TE
HEE 1 %
HyBRIT R A 1
B = 1
2 104
R 48
RlIZH 5
v —K 2
R 2
fif R 1 B
6 %% |HRE. BIZFEOME 66 9.22 |FE 1 66 9.22 &
HIBERT 1 "
ki 2
B R 1
TR 3
66




V€53 18 %
7R KRR BEOR 19 2.65 |[z=H 1 19 2.65 E
19 %
i3 8
EHRE L .
y HREAE 1 il
Sk |#R. EEORMES 12 1.68 mﬁf EE 12 1.68
BEWE 1 %
DEHEEE 1
12
Gt 716 | 100.00




SRR OB EOBRE = L OB (fF44E4 A 1 HEAE)

TR ZEFALA
AN SE sy JL
g | OSBRI 0 A i M F e
W L 72 D IS o o o B
(N) (%) T4 ON) N) (%) B
FHMBE ., BB B IEit A ¥
B, HGE. BHE. MR, 7 Betimigh & (R
1 [BA. EATF EREEOE 1 6.67 1 6.67 | Al Al
B (LUF Tt Bk e ) Bh Bh
LV, ) ORHS BE
z 1
FHMMB R
tod
oy |FEERIERETT) —REERET H o sser A e ;%fé
Tk B oWk M%E Bh B
z 4
1 BAO—RERE T Bk B %
BB 28 ONkES B
FBE (i
3k |2 FHYOHERE IR L M 1 6.67 1 6.67 | Ml
L. W ONE . EALOE DT B Bh
LR O —MX e ST BB O BB
Wik #s
z 1
1 FYEO— R RE T B AR
Z IR B 5H OMs B
Jiiki =t i #5
4% |2 EEOEREMXIIRERE MEL 2 13.33 2 13.33 | Ailifi
L. R DA BAT-0 AT+ B B))
CIRIFREE D — e e S BB O BE
WS
2 2
1 ZHO— R B A% HA%E
LR B T 8 OE {b‘;zi
i %
5k |2 FHCEEEOBREX TR EE 7 46.66 - 7 46.66 i il
L BBONE, FLOER HE B A B B
AT & [RAREE O — e RE 77 %5 Tk BB
B Ok
3 7
Hat 15| 100.00




SRR OB EOBRE = L OB (fF44E4 A 1 HEAE)

IR B R
INZ SE il L
g |EOSIERS RI R H0E it i kb LB
! YL 7o DMk o ok o LRk
(AN) (%) k4 (AN) (N) (%) =
1 FHOE F&H 1
1 k& 1 5.56
2 EFMMORE
i1 S
3 16.67 *
i
. s St A S
2R 2 rE o 2 i
= 2
1 EBROREES EE 4 B
3 % 4 22.22 4 22.22 {:
2 FTORE e
= 4
3 5 1%
4k |REOWE 5 27.77 5 27.77 R
W
= 5
an
FREAE 4 R
5k |BREAEOMES 4 22.22 4 22.22 i
e
i 4 W
R 1 o
6k |HE. BIZFEOME 1 5.56 5.56 s
bl
= 1
W 0 ¥/
7R |RE BEORS 0 0.00 0 0.00 s
W
= 0
EiSES 1 =
8k |HE. EEOME 1 5.56 5.56 s
bl
= 1
&t 18 100.00




